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The beat goes on ....

_S plot(sin(20%t),t=0..10%Pi,numpoints=1000, title="y = sin(20t)");
>

y = sin(20t)

0.53

> plot(sin(t),t=0..10%Pi,numpoints=1000, title="y = sin(t)");
>

y = sin(t
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—S plot(sin(t)*sin(20%t),t=0..10%Pi,numpoints=1000,title="y =
sin(20t)sin(t)");

y = sin(20t)sin(t)
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I Some plots for Example in class (3.8 #15)

—S F:=t -> piecewise(t>0 and t<Pi, t, t>=Pi and t <2*%Pi, 2%Pi- t); #use helg
to lookup "piecewise”.
F:= t— piecewisd0 < tand t< 1, t, m<tand t< 2 m, 2 11 - 1)

> plot(F(t), t=0..10%Pi,color=black,thickness=3,title="Forcing Function');
Forcing Function
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> ui= t > piecewise(t>0 and t<Pi,-sin(t) + t,t>=Pi and
t<=2%P1i,-3%*sin(t) +2*Pi - t,t>2*%Pi,-4%sin(t));
u:= t— piecewisd0 < tand t < m, -sin(f) + t, m<tand t<2 1, -3 sin(?) + 2 - ¢,
2 < t -4 sin(1))

[S plot(u(t),t=0..10*Pi,color=black, thickness=3,title="Solution’);
Solution
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(dbm:7) F(t):= if 2*%pi<=t then 0 else if %opi<=t then 2*°%pi-telse t § /L'\ﬁ% IMmA
(dbm:7) wxplot2d(F(t),[t.0.10%%pi] )$
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if 2*%pi <= t then 0 else (if %pi <= t then 2*%pi-t else t)

10 15 20 25 30

(dbm:7) u(t):= it t>=2%%pi then -4*sin(t) else if t>=%pi then -3*sin(t) - t +2*%pi else -sin(t) +t$
(dbm:7) wxplot2d(u(t),[t.0.10*%pi] )$
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